A. Choose the correct answer:

1. What is the sum of 3,452 and 2,134?
a) 5,486
b) 6,586
¢) 5,576
d) 6,476

2. If you add zero to any number, the answer will be

a) One

b) Zero

¢) The same number
d) A different number

3. Which of these is the correct sum of 6,120 + 3,870?
a) 9,900
b) 9,990
¢) 9,010
d) 8,990
B. Fill in the Blanks
1. The sum of 45,320 and O is
2. The result of addition is called the
3. 4,000 + 2,000 + 1,000 =
4. The smallest number you can add to 8,456 to make 10,000 is

5. When we add numbers, we start from the place

C. Different Type Questions
1. Add the following numbers: 13,456 + 24,789 + 31,022

2. Estimate the sum of 7,432 and 3,578 by rounding both numbers to the nearest
thousand

3. Solve: A shopkeeper sold items worth X2,340 on Monday and %3,210 on
Tuesday. How much did he sell in total?

4. Fill in the missing digit: 5_78 + 3,421 =9,199
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5. Write any two 4-digit numbers and find their sum. Then write the answer in
words
D. Mark each sentence with a True (¢ ) or False (X):
1. The sum of 5,000 and 2,000 is 7,000 |
2. Addition is done from left to right

3. Carrying is done in addition when the sum in any column is more
than 9 |

4. Adding three numbers together gives the same result as adding
them in any order )

5. 0 added to any number changes its value \/—\H

E. Miscellaneous Questions
1. Write a real-life story problem involving the addition of two 4-digit numbers
2. Add the numbers 2,345 and 6,789 and draw a place value chart for the sum
3. Estimate and then find the actual sum of 5,435 and 4,682
4. Write 5 numbers that when added give the sum 10,000

5. A student collected 1,356 stickers and his friend gave him 2,143 more. How

many stickers does he have now?




